Class 5
Mathematics
Revision Worksheet 2

(Answer Key)
Q1.
a. Ascending order: 5,27,358 < 5,27,868 < 19,00,100 < 1,40,07,525
Descending order: 1,40,07,525 > 19,00,100 > 5,27,868 > 5,27,358

b. Ascending order: 9,87,999 < 19,87,999 < 8,67,53,241 < 8,76,53,241
Descending order: 8,76,53,241 > 8,67,53,241 > 19,87,999 > 9,87,999

c. Ascending order: 1,00,156 < 1,00,516 < 99,75,342 < 1,12,53,755
Descending order: 1,12,53,755 > 99.75,342 > 1,00,516 > 1,00.156

Q2.

a. 92,143,056: ninety two million one hundred forty-three thousand fifty
Six

b. 3,555,789: three million five hundred fifty five thousand seven
hundred eighty-nine

c. 463,562: four hundred sixty-three thousand five hundred sixty-two

d. 55,304619: fifty five million three hundred four thousand six hundred
nineteen

a. 3691 (nearest 100) = The tens digitis 9, now 9 > 5, so we round up
3691 to 3700

b. 68,489 (nearest 1000) = The hundreds digit is 4, now 4 < 5, so we
round off 68,489 to 68,000

c. 3,52,991 (nearest 10) = The ones digitis 1, now 1 < 5, so we round
off 3,52,991 to 3,52,990

Q4



36216
116892
231616

Q=275,R=0
Q=2206,R=8

c. Q=209, R=121

Q6.
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Q7.

Q8.
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6025 + 25 = 241
1820 + 13 = 140
153 +9=17

109 x 13 = 1417
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